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2.72. Korzystajac z definicji, oblicz pochodna funkeji f w punkcie x;:

)

e A:_Bf‘_:_j—o— - 2]
x> 1 I
—J

X=Y,th

Sy

40 =466
h

420

‘r.' (_/)} . L;;';:g ,;(zz)—” :[EJ -

@)

_t
1) Ty

Y
l/)
9= oX-phy /

0\54'(«\'.) (f,q):()(d,-‘l(x')) .

Vo faxdosx) (\i'ﬁv]"("‘*"*‘\ ’(“""‘l)l’(vlm\;
LR e -

(,'\&\("")"

o

;! x - <
- (Sx)l) ~(,<‘»>«VL)—((K\)\(«) *'t](" el

= (Q‘/__’_/// )

[ xNwxt 4)

'\_sy\
kl«-?_,% - 5")(7(\43«\-1] - (1_,(»4*0\ 4>

(x«" y\'/‘)L

(1052 10.6) 5101 210

$095 0~
o O e X i
e (23]

= \*“)\; Ul/:
(1(,),5“9’; fhara ™
($6& *9:94‘? cor-a el
el ool

o FYIRENC

|
():0
o
1'&)0
(s)=0
(=1
1 .
("”}""3’ Al
a e b

\ @
(L2

X
(x7]'= s ‘ .
o Ferts

(x) -3 <

oy




	Strona 1

